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‘ MF DISPERSION, MOMENTS AND SKEWNESS
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_ J397.2-338.56 = /50665 - 44521
_J58.44 =Rs. 7.66 . = /6144 = 78.38 hours

. 766 00 a1 630 78.38
B C.v__—l_s—'gx100—4l.63/o | & CV.=—=2x100=37.15%

We see that the co-efficient of variation for the prices of commodities (X) is larger than that for the

life in hours (Y). Hence the prices of certain similar commodities are showing greater variation than that

| among the life in hours under test.

le 4.10 Goals scored by two teams A and B in a football season were as follows:

Examp

No. of goals scored in Number of matches

a match (x;) A B

0 27 17

1 9 ' 9
2 8 6 .

3 5 3

4 4 3

By calculating the co-efficient of variation in each case, find which team may be considered more

consistent.
The necessary arithmetic is shown below:
" No. of goals Team A Team B
(%) 5| fic| pal | Fi | % fixt
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1 9 9 9 __2___‘___1_ 9
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Thus  C.V.=2x100=23% 100 =109.0%
X 1.20

i
We see that the co-efficient of variation for the team B is smaller than that for the team A. Hence teamB ‘
1s more consistent than team A.

4.5.4 Properties of Variance and Standard Deviation. The variance and standard deviation hav®
the following useful and interesting properties:

i) The variance of a constant is equal to zero. If ¢ is any constant then

Var(a) = —Z[a a] (" mean of a constant s constant itself)

=0

- dded
i1) The variance is independent of the origin, i.e. it remains unchanged when a constant 18 3
to or subtracted from each observanon of the variable Y. Symbolically,

Var(X + a) = Var (X)

Z(xz- + aj

| S C 2
Now Var(X+a) = ;Z[(x,' +ta)-(u+a)l® (- =u+a)
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